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A painter charges $35 per hour for labor plus $40 for a ladder rental when he paints a house.
The customer provides the paint. The total charge to paint a customer’s house was $950.
How many hours did the painter spend painting this house?

- 36 +40=05D

G 28h

H 23h

J Not here
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The set of ordered pairs below represents some points on the graph of function f.

{(31 1 l)r (_1r 3’}1* (5: 15): (_41' _3}: (_?: _bg)}

o
What is the parent function of ? ! .
F yv=x
o
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X -
B
H y=Xx° o)
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A family will travel 350 miles from their house in order to reach Dallas, TX. Which inequality

¢an be used to find all possible values of ¢, the time it wi i ily to reach Dallas in

hours, if they travel at an average speed of at leas{_ miles per hour? S .
)<r::350r ’ d__ { Y\\\'efS
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A graph is shown below.
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Which of the following equations are represented by the graph?

P = =3x-2 C_a nandv )
1L 2x — 3y = 6 B 1and 11

)x(y=(x_2)(x_3) C IlandIII

V.y —2=2(x-§ B and Iv
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Which coordinate pair is in the solution set for y < 1 — 6x?

A (1, 0)

B (1,1}
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Which graph shows a function with a dn;zin of all real numbers greater than 77
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practice

1. Which of the following does not represent a 6. The table below shows a relationship
function? between the total cost of purchasing books
through a book club and the number of books
purchased

A X -2 0 4 10
¥ -1 3 11 23

Total Cost in Terms of Books Purchased

[ Books Purchased, x| 0 [ 1 [ 2 ]
B y=x-3 \ Cost, y | s10 [ 525 [ 540 ]

C {(6,-1), (6, 0), (6, 3), (8, 5%} What is the functions’ independent variable?

A $10

B $15

C Costof the club

D Number of books purchased

D 5 S o 7. A swordfish travels through the water at a

. . ; speed of 40 miles per hour. The relationship
between the distance traveled, d, and the
time traveled, ¢, is determined by the function
| N | d =40¢t. Which of the following statements
D N Is true?

2. If F(x)=x? +2x + 3, what is the value of £(x)
A The distance a swordfish travels is

when x =67 determined by the size of the swordfish.
A 27 B The amount of time a swordfish travels is
B 42 determined by the size of the swordfish.
C 51 C  The amount of time a swordfish travels is
D 60 determined by the distance the swordfish

travels.
D The distance a swordfish travels is
determined by the amount of time the

3. Whatis the value of 2% —3¥ ,when x =8 and swordfish travels.
xy

y=-4? 8. Which of the following represents the parent
function y -2x =77

A2 A y-2x

B -1 ¥

c 2 B y=x'+7

D 3 C y=x
D y= Jx

4. If (-31(5‘ ¥) is a solution to the equation

Q(_qgw :%7 5 =10, whats the value of 7 - _—3“8 9. If f(x)=3x _1 , what is the value of £(-3)?
17_Y 2

=
-4 -5y = Sy~ o
_’0‘ . Whlis the domalfrof the functior shown? 2
A -2<x=26 ¥ 1
B 5<x<3 T B 25
C 2<y=<6 EEEEEE Pl R aa 1
D -5<y<3 JaEE! c 83
ARR D . o ol
' 2
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1 yhlch of the following is not a comect descripl\og);f’(he graph of the equatic}wﬁ2;+ 57:2% o

A. _/The graph of the equation co%ms the point ( M) JdMBn the L\f}kje of x increases by 1 unit, the
value of y decreases by 2 units.

B. The graph of the equation contains the points (-1, -5), (2, 11) and (4, -15).

@The graph of the equation is a line that passeb{rough Lpe/p th a sl d£e

D. The graph of the equation contains the points (0, -7), (1, -9), and (3, -1). UP WN
2. Which |n&|ua||ty best describes the graph shown below? ‘ l B

o yo2
y>——x+5b 4
>é\ 3 = \iN@
y<——x+5 e
Covetrg? i SIS
OR _ -3 a 2EE 1wne
D. M§r+@ﬂ' alsaivi=

"9 . HO
3. mat :Iggs equation In stznderd mg.e\}s%e %ﬁgﬁugh the point (1, 24) gnd 2@@0@ e,

A

G 3x+5y =77

H 3x +5y =123

3 3x 45y = 115

oW W™ WL W
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Algebra 1 - Linit 11; End of Course Review - Writing Equations of | ines

Which Graph Teacher Sheet— Writing Equations of Lines
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Cal‘d SOI‘U

4 Motch the cards into 5 sets of U cards. Each set wil
have one graph, one Table, one equation, and one carg
with the slope and y-intercept




3 Writing Equations.notebook

YWhich equation describes the line that passes
through the paint (4, 7) and is parallel to the line
represented by the equation -3x +p =47

A p=-3x+19
B y=3x-5

1 2

c ==x+5=

¥ 3)(l 3

e

YWrite a function in slope-intercept form that
represents a line that contains the point (2, 12) and
has a slope of -37

YWhich inequality best represents the graph shown
below?

6. Which of the graphs below best represent the
inequality X + 2y <47

A xi4p=8
B dx+p=2
C dx+y=<2
D x+4y=<B

.l_)../_:.‘u'

YWhich function includes the data set
(=27, (¢ 4),(63) 7

A y:—%x—:t‘i B ¥==2¥+3
il
c y=Ex+5 D y=2x-4

What are the intercepts of the linear function
shown below?

& (-3, 0)and (9,0

B {-3,0)and 09

C {0 -3)and 09

D (@ 3and @0 LT

3

7. The table below shows various values for x and
¥ wWhich equation best describes the
relationship between xand »?

&

¥=-3x+8
¥=-5r-T
¥=-x+17
¥ =23x+41

X 14
-6 23
-2 3

7 -42
11 -62

8. Which function includes the following set of

ordered pairs (1,3),(2,00,(3,-3) 7

A Y=

3x

C ¥=-3x+8
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